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QUESTION 1

Which of the following is MOST characteristic of specification based (black-box) techniques? 

A. Test cases can be easily automated. 

B. Test cases are independent of each other. 

C. Test cases are derived systematically from models of the system . 

D. Test cases are derived systematically from the delivered code. 

Correct Answer: C 

 

QUESTION 2

Given the following decision table: Which of the following test cases and expected results is VALID? 

A. 23 year old in insurance class A Premium is 0 and excess is ,500. 

B. 51 year old in insurance class C Premium is 0 and excess is 00. 

C. 31 year old in insurance class B Premium is 0 and excess is ,500. 

D. 43 year old in insurance class C Premium is 0 and excess is ,000. 

Correct Answer: A 

 

QUESTION 3
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Given the following state transition table Which of the test cases below will cover the following series of state
transitions? S1 S0 S1 S2 S0 

A. D, A, B, C. 

B. A, B, C, D. 

C. D, A, B. 

D. A, B, C. 

Correct Answer: A 

 

QUESTION 4

Which of the following activities should be performed during the selection and implementation of a testing tool? i)
Investigate the organisation test process. 

i) Investigate the organisation\\'s test process. 

ii) Conduct a proof of concept. 

iii) Implement the selected tool on a project behind schedule to save time. 

iv) Identify coaching and mentoring requirements for the use of the selected tool. 

A. i, ii, iii. 

B. ii, iii, iv. 

C. i, iii, iv. 

D. i, ii, iv. 

Correct Answer: D 

 

 

QUESTION 5
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What is the KEY difference between preventative and reactive approaches to testing? 

A. Preventative tests and reactive tests are designed as early as possible. 

B. Preventative tests are designed early; reactive tests are designed after the software has been produced. 

C. Preventative testing is always analytical; reactive testing is always heuristic. 

D. Preventative tests are designed after the software has been produced; reactive tests are designed early in response
to review comments. 

Correct Answer: B 
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